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B.A./B.Sc. (General) 2" Semester
(2054)
GEOGRAPHY (In all Mediums)
Paper : III-Physical Geography—II
(Climatology & Oceanography)
Time Allowed : Three Hours] [Maximum Marks : 60

Note :— (1) Attempt five questions in all. Question No. 1 is
compulsory. Attempt four other questions, selecting
one from each of the four units. Special credit will be
given to suitable use of maps and diagrams in all questions.
Use of unmarked stencils and colours is allowed.

(2) For USOL/Reappear/improvement candidates who have
not been assessed earlier for Internal Assessment, the
question paper in their case shall be of maximum marks
allotted to the paper concerned.

1. Attempt any fen questions with answers in about 25 words
cach :—

(a) Albedo of earth

(b) Active gases

(c) Differentiate weather and climate
(d) Hailstone and sleet
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L)

(¢) Chinooks

(0  Inversion of temperature

(g) Stratospherc

(h) Doldrums

()  Define Oceanography

(0)  Average salinity of oceans

(k) Spring Tide

()  Planktons

(m) Aphotic zone

(n) Labrador current

(0) Guyots. 10x2=20
UNIT—I

Define Climatology. Discuss nature and scope of Climatology.

2+8=10

What is atmosphere ? Explain physical structure of atmosphere and

throw light on the attributes of its different layers. 2+8=10
UNIT—I1

What are cyclones ? Describe the extent, shape, origin and weather

of Tropical cyclones. 2+8=10

- What is Global Warming ? Discuss the causes, consequences and

measures to control Global Warming. 2+3+2+3=10
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UNIT—III

6. Describe the topography of ocean floor of Pacific Ocean. 10

7.  Seawateris always saline, but the degree of salinity is not the same

everywhere. Explain. 10
UNIT—IV

8. Define an ocean current. Describe the ocean currents of Indian

Ocean. 1+9=10

9. Whatis Coral ? Explain the origin and types of Coral Reefs.
2+8=10
(F=t wmemm)

AT - (1) N H & o yoq &) yog F. 1 afrad 20 @
TR IS A ¥ UE W H 999 $G gC, A 3
g9HT H W w0 wlf yeAl H AERe ug et
% IugHd W B A9 A Rar s sffed w2
AR WM & IWA H A B

(2) USOL/8sdr/sgade faarfiar & foaw REer wsa
AR Heuip & g geaiwa 981w o 8, s e
HAA H oA defta X & fog endfed st st
T B |

1. =281 = ygal &1 IO A 25 vl B Qi -

(a) YT FT SFellaaT |

(b) &g T |

(c) AEH AR earg H AR &I

(d) I A HAPRe |
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(e) Ty |

() TIHE &1 IdAer BT

(g) 9HAM Hgd |

h) SFgH |

L CORE RIS B D | ESt R

() FEEUR W 3| e |

k) T SR

Q) &F |

(m) THRE 7 |

(n) TWER FLe |

(0) THITH | 10x2=20
-1

Sy S P ARART FX | Toag B wmey @k
FEHT YL T= @Y

K

2+8=10

3. dgHSA F B ? GRAN] Hed W Mfdw wEAT & amem &y

IRz B owd A RweRt W) wwe ey 2+8=10
P11

4. gFHa qm%?@@ﬁf&ﬁ%ﬂwmﬁ‘fﬁﬁm, AFR, Icqid

IR AGH F GO F 2+8=10

5. Eﬁmmﬁnw%?@aﬂmﬁn%m,qﬁmﬁaﬁtﬁmﬁw
T UG W el @Y

2+34+2+3=10
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6.
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giAz—111

gaid WERPR & e ad A wengla w1 avfa & 10
& B TH SNW @i el g, Afbe @A @) 0 B

8 TE S A8 ) anan $wi 10
afye-1v
TR g1 ® w0 R wgmore A @i
SIS BN E B 1+9=10
WO T e ! YE NRE @) IRt ud yerl # e
F1 | 2+8=10
(UFrEt nigee)

3¢ :— (1) Fionit 5 U9 YA 91 YAs 3. 1 swHt 31 I7<

gise' I9x Giee &9 fEa yrs &t I aoe Jg, 979
T Tt @93 »E! ferm dfse o3 aear foms sfos
Refrst n3 Jar € =93 < feAws I

(2) USOL/Shimig/aos =& teee &t figh & ufas

WEgal HEHE BE mass adl ot3T famr 3, 85
an &9 yAs U39 A9U3 U § nide dI3 aF U
3 U »fgt T I

IEt TR yAst ¥ €39 @agd 25 HEel K9 fef

(a) UISt T EES |

(b) fafondis dH

©) i »3 Auey &8 ni3d 9|

(d) I3 ni3 FI=|
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() RHESt & WiAS USuE|
(k) SA3 A3

Q) uBaes!

(m) Mufex T

(n) JTTBI A< |

(0) arfeSen) 10x2=20
gise-1

Aoy fefamis & ufgsTiag 3 Asey fefams ¥ Fgu w3

efed 9 g99 &3 | 2+8=10

TEHSSG &t 7 7 TEHEs T 339 gE39 T fonrimr 35 wid

fer €mif vy yest ¥ I '3 IEE wg 2+8=10
gfse-I1

Y993 ol 75 ? ddH TALTIT T Ju, Mg, H® M3 HAM
¥ TI6E A9 )

' 2+8=10
mﬁﬁhﬁ%?mm%m,ﬁw»@

qCdB A9s ¥ Buet ¥9 TIuT F9 2+34+2+3=10
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6. YH'3 HIHEN 2 miedt 35 & goifsa AfEst o w9ss a9
10

7 memwﬁwa,wma%maaw
fead fadt st Jdt mumG, 10

glise-1vV
T T9sE w91 149=10
9. FB o I 7 q9m Fen T uym w3 fymet @y O
2+8=10
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